ROHRSYSTEME

Member of NEU-JKF

45°Abgangsstutzen, verzinkt
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Kalkulation von L2 und L3 MaRangaben
) =C B L1 L2 L3
L1 = siehe Schema mm mm mm mm mm oc®
1
12= 2 (L - &) 80 300 438
100 300 43,8
L3= _ngngc_ (% x tgoc) 120 350 44,0
125 350 44,0
140 350 44,1
150 400 44,2
160 400 44,2
Beispiel: 180 400 44,3
g 200 450 44,4
A=550,B=500,C=550 = 225 500 - - 44,5
' 250 500 o 2 44,5
L1=1050 mm = 275 600 S 5 44,6
550 = 300 600 o o 44,6
12=05x (1050 - W)z 0,5 % (1050 - 550) < 315 600 I b 44.6
2 350 700 ° ° 44,7
L2 = 248,07 p 248 mm @ 400 800 E E 44,7
el 450 950 44,7
13= 1050ﬂ-(@x tg 44,8)= 113026 - 248,26 S 500 1050 44,8
cos 44,8 2
550 1150 44,8
13=882mm 600 1150 44,8
650 1150 44,8
700 1300 44,8
750 1300 44,8
800 1450 44,8
850 1450 44,9
900 1650 44,9
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